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SECOND MID TERM TEST - 2024

¢ ~ Standard X ‘Reg.No.
- MATHEMATICS |
Time :1.30 hrs Part - | " Marks:50
I Choose the correct answer: 7x1=7
1. If'A'is a 2 x 3 matrix, and 'B' is a 3 x 4 matrix, how many columns does AB havev_?._ :
a) 3 b) 4 c)2 d) 5 o
o4 o e T :
2. Find the matrix ‘X" if 5 7 9 5 . : .

-2-2 : 2 2 (12 %21. § %
W7 wEY ef) el

- 3. Ifthe ratio of the height ofatowerand the length of its shadow is /3 - 1) then the angle

of elevation of the sun has measure . o 4
a) 45° . b) 30° : c) 90° - d) 60°
4. Atower is 60 m height. Its shadow reduces by ‘x’ metres. When the. angie of elevation
* . of the sun increases from 30° tg 45°, then ‘x' is equal to

a) 4‘&92 m . b) 4392m. -~ ¢)43m d) 45.6.m '
5.. The height.oia right circular cone whose radius is 5 cm and slant height is 13 cm W|I1
be Tt e —— ) T e S
a) 12 cm - b) 10cm’ - ¢)13cm “ - d) 5cm : -
67 The” curved surface area of right cwcular cone of height' 15 cm and base dlameter
“16 cm is s e
2).80ncm? -’ b) 68n cm2 )‘1'207t cm? ~d) 136 cm?
7. Graph of a quadratic equation is:a _ : Ll ORI
a) straightline © b) circle - - ¢) parabola d) hyperbola
' - Part- Il | b )
Il. Answer any 5 questions. (Q.No.14 is compulsory) =~ = © 5x2=10
8. Copstruct a 3 x 3 matrix, whose elements are given by a; = li—2j] B
1 9) (57
0. i A=[3 4| B=|3 3| ierifyA+B=B+A

8 -3 -1

10. A tower stands vertically, on the ground. From_a point on the ground, which is 48 m
away from the foot of the tower, the angle of elevation of the top of the tower is 30°.
Find the height of the tower.,

11. From the top of a tree of height 13 m, the angle of elevation and.depression of the top
and bottom of another tree are 45° and 30° respectively. Fmd the height of the second

tree. (V3 =1.732)

12. If the total surface area of a cone of radius 7 cm and 704 cm2, Find its slant height.
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' Find the diameter of a sphers whose Blas 505 15 154 il
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14, if A=|4 16 28|
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H. Answe uestions it
15 L‘"‘qu - (Q0.21 is computaory)
. Df.f."::f: the folloving metriczs with LrZes.
© 8) Dizgonz! matris of 2072 order (2 marts)
b) Sczlar mztrin of 414 crdes (7 T2CE)

C) ldentty maetrin of 213 order (1 =)
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16. £A=| 1 955=-12 41

1, Senfrbd24+2

3
-4 2 -1} 17 5 Q)?’

= Tose Ve it

: : _ : ae20° zra <Soechv=ly.
i the Bghfhor &Bmm?egi&'ﬂﬁemm&emmm
1S. A siztue 1.5 m 121 stands on Hhe 100 of 2 pedestzl From 2 point on T oo, #a

a*g%gféeefoncfﬁ%bpofﬁesﬁaﬁ:eisﬁ?aﬁﬁmfemmﬁf&aaej
elevation of the top of the pedestzl 5 40P, Find the height of 12 pedestmi- —
(n40°=02381, f3=1.722) P
20. Therzdissandheighifagfinderaenthe o ST ad tscaved suiace ===
1. 2) Fher=diciacroferendsof 2 fushmwhichs45cnhigha=23cnadiom
Find the volume of 2 frusham. —
(OR)
B) Siztz and prove Pythagorzss Theorem
- Part-IV : )
IV. Answer any one of the following. 1x8=3
22 z) Drazwihe grzph of x2 -9 x + 20 = 0 and stzfe the nzture of thair solufions.
(OR) '
D) Teks 2 point which i 11 om a2wey from $e centre of 2 circle of radies 4 cmand
draw tero tzngents to e circie from that pont.
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